99 X 145 + 99 x 55
1992 -1

of g Pofelel.

>
> ®gt:

oH =

1
2

99x 145 +99x 55  99(145 4 55) 1

1992 -1 (199 +1)(199-1) 2




12-22 43242 + ... +15% - 16* 9] F= Fotoiet

(1-2)(14+2)+(3-4)(3+4)+(5-6)(5+6)+- - -+(15-16)(15+16)
=—(14+2+3+4+5+---+15+16)

= —(17x38)

= -136




Sf&Al o]-§5ke] 132 - 122 = 13+ 12 2 A{tst3int. of of,

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)*
@)a?-b* = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

132 -122 = (134 12)(13-12) = 134+ 12 =25
webA] o] g8 FALL o - b? = (a+ b)(a—b) °IFh.




4.

o
0,

1502 — 1492 = 150 + 149 S AYsl=¢ = Q
A=H?

® a* +2ab + b = (a + b)?
@ a*-2ab+ b* = (a-b)?
@)a?-1? = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

1502 — 1492 = (150 + 149)(150 — 149) = 150 + 149
wehA o] 8H T2 a2 - b? = (a+b)(a-b)




1112 1102 = (111 + a)(111 = b) = ¢

D 110 @ 221 ® 321 @ 421 @441

1112 - 110% = (1114 110)(111 - 110) =221 x 1
. a=110, b =110, ¢ = 221
a+b+c=441




39

ul
RO

(20 + 19)(20 — 19)

39%x1=39

‘ 202 — 192




>
> &=EH: -192

= (11-13) (11 + 13)
(19— 21) (19 + 21)

= —2(24 + 32 + 40)

= -192

+

(15— 17) (15 4 17)

+




8. 572 -632 — 1882 4 2122 & AAI5}toizt,
o

>
> =g 8880

B

(=4)

= (57 — 63) (57 + 63) + (212 — 188) (212 + 188)
= —6 x 120 + 24 x 400

= —720 4 9600 = 8880




85% — 1152 — 1622 + 2382 = Al4bstolzt
cCh "
| —

>
> =l 24400

B

(Z4]) = (85— 115) (85 + 115)
+ (238 — 162) (238 + 162)
= —30 x 200 + 76 x 400
= —6000 + 30400 = 24400




10. n=10 & 9, Vn2 +6n+ 9 9 3t-& Fotof=t
B

>
D XMekt 13

okl =

n+32%2=n+3=10+3=13




@15 @2:v@1 @22WB @3V 6 2V

V822 - 802 = /(82 + 80)(82 - 80)
= VI62x2 =18




12. n=93 < o}, V2 + 14n + 49 9] ZF2?

@ @107 G112 @18 G 17

(n+7)2=n+7=93+7=100




D 80 @)100 ® 120 @ 140

® 160

1.23(552 — 452) = 1.23 x 100

~[_]=100




A A4S o851 24 x 27 - 24 x 22 & IHAstA Axtstelet.

24 X 27 —24x 22 =24 (27 -22) =24 x5 =120




|
=

15. o= F 201% o] Altte HEsHA 517] 945t o]§HE =4l
HFEA UEbR A2? (Ha, b, ¢, d = AAF)

ofd
o

D (a-b)? @) (a+b)?
® (ax+b)(cx+d) @ (a+b)(a-b)
® (x+a)(x-b)

2012 = (200 + 1)2 = 40000 + 400 + 1 = 40401




16. —E—Hl =

39 x 41 = (40 — 1)(40 + 1) = 402 — 12
= 1600 — 1 = 1599




17.

Hu)
oo
ol

>,
o
rEI
AP

A7V a, b o) g Ftele

37x(40+a) =402 —a®> = b

v V. v V¥
0
L
Q
[

0
o
S
I

—_
at
Nej
=

37% (40 +a) = 40> —a®> = (40 — a)(40 + a)
40—-a =37, a=3
b =40% - a® = 40% - 32 = 1591




18. t= SAS A7 b o g2?

28X (30 4+ a) = 302 —a® = b

O 890 @ 892 @ 894 @896

® 898

28 X (30 +a) = 302 —a® = (30 — a)(30 + a)
30—a=28, a=2
b =302 -a%=30%-2%2 =896




19. V33x34x35x36+ 1 9 7& #5toiat,

> E

> Heh: 1189

B

33 =12t o¥
Vit+ D) +2)t+3)+ 1=/ (2 +30)(2+3t+2) + 1
2 +3t=AztsHHA
LVAA+2)+1= /(A4 1)2
=A+1
=(3324+3x%x33)+1
= 1189




20. V592118 - 59 + 60 9] ZFS FL&toizt.

59 =t 2 2| gotH

V592 - 118 =59 +60 = /2 -2t —1+ (1 + 1)
=VZ-2t+1
= /(t-1)?
=|t-1] =159 - 1| = 58




a?—1—4b% +4b
a+1-2b

21. a= V80, b= V125 Y o, o] gk Foteizt.

cCh "
H =

| 2
> He: 14v5-1

B

a?-1-4b> +4b  a®>— (4> -4b+1)

a+1-2b a a+1-2b
_a?—(2b-1)*

 a+1-2
(a+2b-1)(a—2b+1)
a a—2b+1
=a+2b-1
et a = V80 = 4 V5, b= V125 = 55 & tYdstHA
a+2b-1=4v5+10V5-1=14+5-1 o]t}




TG o183t 2x20% - 2x 40 + 25 AKX o, o] &=
& 57| SoA B 2w

Q ma+ mb =m(a+b)
© a*-2ab+b*> = (a-b)?

© a®>-b*=(a+b)(a-Db)

@ x2+ (a+b)x+ab= (x+a)(x+b)

® 6 ®o.0 ® G, ©
@ ©,© ® 6.0,

~&B ~

2x202-2x40+2

=2(202-40+1) > ma+mb=m(a+b)
=2(202 -2x20x 1 +12)

=2(20-1)2 - a®-2ab+ b* = (a—b)?
=2x19?




23.

282 — 11 N

25X 17-17%x12

O 12 @ 9 ® 6

®1

(28 4+11)(28 —11)  39x17
(25-12)x17  13x17




24.

@ a®+ 2ab+ b* = (a + b)?

© a®-2ab+b* = (a-b)?

© a®-b2=(a+b)(a-b)

® x*+(a+b)x+ab= (x+a)(x+Db)

© acx® + (ad + be)x + bd = (ax + b)(cx + d)

® ma+ mb =m(a+b)

D 6, . 80 @ © @, 80 ®)e. e, s0
@ ©,06,70 ® ©,6,7

B

1 1
—x 422 - = x 382
4 4

X (422 — 38%) - ma + mb = m(a + b)

X (42 + 38)(42 — 38) — a®> = b?> = (a + b)(a - b)

x 80 x4 =80

e i N S )




25.

002 - 1 = 100x 98 & AYohr] 7P FLE AR

® a®+ 2ab+ b* = (a+ b)?
@ a® - 2ab + b* = (a - b)?
@)a?-1? = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

992 —1 =992 — 12 = (99 + 1)(99 — 1) = 100 x 98




26. V8IX9Il+1=10xx2 ¥ o, x o] Zt&?

D =3 @i3 @ 9 @ =+18

V(O0-1)(90+1)+ 1= V902-1+1=90
10x2 =90

SLox==3




27. 65x63+ 66 % 66 — 66 x 64 — 64 x 64 2] FH-S FoFH?

@ 1 @ 164 @131 @ 132 ® 140

(644 1) x (64— 1) + 66 x (66 — 64) — 642
= 642 — 1+ 66 x 2 — 642
—132-1=131




2 2(1—\/5)
1+V2 (1+2) (1- v2)
(1+v2)" =3+2+2
L (B =-2+2V2-3-2V2=-5

=-2+2v2




29. a=3V2-2V3,b=V2+ V3< W, 2V3a - 6 V2b 2] Fr-2?

@24 ©-2 212 @u 60

B

2V3a - 6V2b
=23 (3V2-2+3) -6v2(V2+ V3)

=6v6-12-12-66
=-24




0. x-y=d, =120 2 +ay+y* e S Fotoih
£

>
> &= 19

od -

P+xy+y? = (x-y)2+3xy
=424+3x1
=16+3=19




31. a+b=-2ab=-15 < W, (a-b)? 2 ZH?

@® 36 @ 45 (@)64 @ 81 ® 121

(a—b)2 = (a+b)? - 4ab = (=2)2 — 4(-15) = 64




32. (3-2v2)" (3+2v2)" & Axtstelat.

>
> ™eh: 1

(EA)=1((3-2V2) (3+2v2) 101 =111 =1




33. 2262 +10% — 142 + 182 — 222 + 262 — 302 & AAtstoa}.
=i

>
> H=E: 512

B

(£ A) =(2-6)(2+6) + (10 - 14)(10 + 14)
+ (18 — 22)(18 + 22)
+ (26 — 30)(26 + 30)
= —4(2+6+10 + 14 + 18 + 22 4 26 + 30)
=—-4x4x32
= -512




xt—-2x2-3x-2
)

34. x:m_1w1,(

-x2-x-2

cCh "
H -

>
> Hehl 2009

2
) o g Tatele,

B

(x4 — 2x2 —3x—2>2

x(B3-x2-x-2)+x3-x2-x-2

B-x2-x-2

—N

B-x2-x-2
2

=
+

1)
V2009
00

—-1+1)2

N —
N=)

;




35.

3

se §x82—5x22% Alrshe wpgolt). o] uf, o] &

NEH? (BH 270)

@)ma +mb = m(a +b)

@ a* +2ab + b* = (a+ b)?

® a*-2ab+ b* = (a-b)?

@)a? - b* = (a+b)(a-b)

® x>+ (a+b)x+ab=(x+a)(x+b)

=

A

filo

2

=
T

B

3 3
—x82 - = x22
5 5
3 2 o2
=5><(8 -2%) > ax+ay=a(x+Yy)

ot W

X (84 2)(8=2) - a®—b = (a+b)(a-b)




)= ((VE-2)(V5+2) = 1101 = 1




37. B2 o g Dapepa,

[
H -

oH =

>
[> b= 13

13x28-13x4  13(28-14) 13
52 —1 B+ 1)GB-1)




38. 15><3é92—_115><32 o] 712 atolal

[
H -

>
[> o= 3

oH =

15x39-15%x32  15(39 - 32)
= =3
62— 1 6+1)(6-1)




Al

39. 428 24

ofd
o

o] g3to] thd & 4= B- 104 9| 3k F5HH?

A=18x25-18%x23, B=212-2x21+1

O 400 @ 360 ® 200 @ 160 @40

A=18(25-23)=18x2 =236
B =(21-1)2 =202 =400
. B—10A = 400 — 10 x 36 = 400 — 360 = 40




40. 5007x5009+1 ©] o Ae150] AFY v, olW 2SS F3he?

@® 5005 @ 5006 ® 5007 @5008 ® 5009

5007 x 5009 + 1 = (5008 — 1)(5008 + 1) + 1
= 50082 — 1+ 1 = 50082




1(2+ V3) 2
2+ V8
IO R

(2- «/5)2=4—4«/§+3=7—4\/§

(EA) = (2+ V3) - (7-43)
=-5+5v3




